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Evaluation of water use effecincy of grain corn (Zea mays L.) 
 Hybrid SC.704 at deficit condition 

 

  

Abstract 
 

This research was conducted to assessment of water use effecincy of corn, in 2008 and 2009 
cropping season in factorial experiment using randomized Block Design (RCBD) with three 
replications. The experimental factors were included of combination of 100, 80, 60 percent of full 
water requirement with irrigation-off at the 8 and 12 leaf, anthesis and milky stages and non- 
irrigation-off as the witness. Irrigation treatments implement at 4-5 leaf stage (seedling 
establishment) and continued until 10 days before physiological maturity. The highest rate of water 
use effecincy (1.06 Kg.m3) obtained from full irrigation treatment, which was not significantly 
difference with 80 percent full irrigation. According to the results of this research, when Water 
Resources not limited, full irrigation Increased crop yield and economic efficiency of water use, but 
in dry year, irrigation based on 80 percent full water requirement of corn plant with out water stress 
in sensitive stages, could be recommended for increment of water productivity. 
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